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Note :
(i)  All questions in both the s
(i)  Marks for questions are against each.

(i)  Questions Nol and 13are short-answer questions carryihgnark for each
part. They are requ answered in one sentence each.

(iv) Questions N d $4-17are short-answer questions carryiBgmarks each.
Answers to théll sheuld normally not excé@dvords each.

(v) Question§, N0o6-9 and 18 -21 are also short-answer questions carrydngrarks
*o them should normally not ex@@adords each.

0l0-12and 22-24are long-answer questions carryibgnarks each.
o them should normally not excé@d words each.

rs should be brief and to the point and the above word limits should be adhered
s far as possible.

All parts of a question should be answered at one place.

Time allowed : 3 hours & Maximum Marks: 100
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SECTIONA
o O
1. Answer the following questions : O 1x4 =4
() Give two reasons for the problem of choice. @ *
()  Give one reason for a rightward shift of the Production ibility Curve,
(i)  Give two examples of microeconomic studies.

(v) What does the problem ‘for whom to producgisef
frfaiaa g9t & SR i ¢ @p

() awﬁﬁqﬁgﬂwaﬁwaﬁaﬁ
(i) TH HROT gAET EH SRS G b oY fags o 7

(iy = I e & Al |

(v) fras oo SameT & @ M B 7

2. Explain the effect of rise in the of related goods on the demand of a good.
FrRIE T3l I Hdl I I AT W YU b AT HINT |

3. State three causes e in supply.
qfd @ =@e (decreas HROT TS |

b&ween marginal revenue and total revenue.

foyg-gs W S|

4. Explain the

A FE A () T, (i) T & B qen (i) vF & s e gy de
T i

For Blind Candidates only in lieu of Q. No5
Had ghede qheRial & T 9 €& 5 @ WM W

Distinguish between fixed cost and variable cost and give one example of each.
fer (3ra@) g SR aRad<ig @ & 9 Siay 9dEU SR Y% &l Uk 3IeedoT
T |

58/1 2



6. When price of a good falls by 10 percent, its quantity demanded rises from 40 units to
50 units. Calculate price elasticity of demand by the percentage method.
OR

A consumer buys 50 units of a good at a price of Rs. 10 per unit. When price falls to
Rs. 5 per unit he buys 100 units. Find out price elasticity of demand by the ‘Total

Expenditure Method'.
9 TUF IE] B HAT 10 Y9 TR & q1 IqR! AN 40 THE F IGHL 50 TR o
z 1 ufae fafer g @i &6 iwa d @ aRead Fif )

AT
TF ITHIHN 10 &. TR IHE HHAT W UH T8 50 SHEAT G © |
et 5 %. ufy 3 &1 AT & A1 98 100 TwEAt @dEdr & 1 ga @ A gl wer @
HHT A FA I | R
7. Give meanings of (i) marginal physical product, (i) margi @i) marginal revenue
and (iv) supply schedule. 4
(i) dmiq Wifqe Sare, (i) dwid e, (i) e g iv) gt arferepr & aref

ERIER
8. Calculate Total Variable Cost and Margi & from the following cost schedule of a
: 4

Output

(Unit)
1
. (D
3 31
4 ¢ 3
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8 8

&
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9. How is the equilibrium price of a commodity affected by a leftward shift of the demand

curve ? Explain with the help of a diagram.

Uk I H A Wb b I AR Ra¥ET § IHA G AT bd TATE Bl

T 7 Uh W@ H GEEdl ¥ GHHET |

demand ?

Uk A H AN FHA BM A IHH HdWd HEG AR AT wHE  gwiad 7

For Blind Candidates only in lieu of Q. No9
Haq ghedq qdeniia & Mg 9 @ 9 3 N W

How is the equilibrium price and quantity of a commodity affected by a decr,

10. Distinguish between the following :

(@ Normal good and Inferior good
(b)  Marginal utility and Total utility

(¢) Individual demand schedule and Market demand sch
fr=fafgg 9 w5 @i -

(@®) @m T AR afar g

(@ "mra SuEifEr iR HjA  SuATr
(M @REE AN A MR SR AT

11. Identify the three phases of the Law of \aria
reason behind each phase :

Unit of Variable Input

Tot siGal Produ

)

10
22
30
35
30

U % FHT & A =0T T 9B AN SR YA WOl

FA Wifds IS

(zhrEar)

a b W N P
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12. Explain briefly the three features of perfect competition.
OR
Explain the features of monopoly market.

of @it & aF faguad a9 § awsen |
AYdT
UHIMIRR IR &l fI9eas a9smey |

SECTION B O
o ()
13. Answer the following questions : 1x4

() Define macroeconomics. @ *
() Give two examples of the study of aggregates of t§ e:co C system.

(i)  Listtwo items of the capital account of balan ts account.
(v) Whatis the difference between the valu€s o rts of goods and imports of goods
called ?

frefafad g & S AR
() wufc srefamexr @ gRwmn
(i) orefoaer & Wi &
(i) N G G H & AC darRu|

(v) a&it & off & omard & e § AR H RN ked §7

14. Calculate Persohal Irgome from the following data :

(Rs. cores)
ibuted profits of corporations 20
omestic product accruing to the private sector 500
55
(v) Netfactor income from abroad (—) 10
(v) Netcurrent transfers from government 15
(vi) National debt interest 40
(vi) Net current transfers from the rest of the world 15
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15.

16.

17.

18.

19.

ffafaa siest ¥ Jafhe oM@ @ IRead &ifsw -

(B3 %)
() FEl & sfadira @ 20
@) Tt & @ g faa (8) W SdR 500
(i) T ® 55
(v) fodei | o g ®R% (Qred) (—) 10
() AR A WA gE P ([ s 15 0
Vi) T8 ®T W AW 40 ()
oi) 99 R ¥ g5 Bh (A1) s @’
An increase in investment leads to total rise in natidnal in e by Rs. 500 crores. If
Marginal Propensity to Consume is 09, what is thegl in investment ? Calculate.
frag & afg & a&fim s ¥ 500 wT W ge | Al did STHRT

wgfa 0.9 B, @ faw 7 g ge &

Give meanings of (i) aggregate deman
(i) T =, (i) G997 gid R (i)
How is foreign exchange rate

freolt faffma = @& femo

For

gate supply and (iii) excess demand.
31 g1y |

? Use diagram.

? WA # SUART I |

Idates only in lieu of Q. No.17
& 0T 99 @ 17 % WM W

g of money supply,. State its components.
OR
meaning of money. Explain its ‘medium of exchange’ function.

gt @ o qARu| TER "eh  ganR’ |
CREN
Lo EUIC 2 B o B s T T ol 1 o e e 1190 M o B B e e 3 s

Explain briefly the ‘banker to the government’ function of the central bank.

FHed §h B GER H KT HE GET § HHEIST
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20.

21.

22.

58/1

Distinguish between ‘revenue expenditure’ and ‘capital expenditure’. Give two examples
of each. 4
A FT R YOG 2’ % I SR Id12T | GAE b G-l ISl e |

Distinguish between fiscal deficit’ and ‘revenue deficit’. What does fiscal deficit indicate ?
;12151 0 MR >1 ot | A - M2 o M OB 1 B2 (s e s LAt o 1 2 2 ot e | 1 R

Calculate Gross National Product at Market Price and Net National Disposahle'in e

from the following data : 4, 2
(Rs. cores)

()  Current transfers from government 25 O

(i) Compensation of employees 600 O

@iy Netcurrent transfers from the rest of the world r'S

(v) Rent @

(v) Consumption of fixed capital O 50
(vi) Interest % 120
(vii) Netindirect tax & 110

(vii) Profit 80
(x) Mixed income of the self-emplo 200
(¥) Netfactorincome from ab& (—) 10
frfafad sifewst & amom e i | O F e o M e 2 e [ G o
® IREeAT FINT -
@ (B3 %)

Q@) B 25

EItE 600

aa Sy (3Ir))  e&iaeeT 20

100

TSl 1 STH 50

120

(vi) TaaT stger @Y 110
(vii) T 80
() w-fEfa o fEa om 200
(X) Tl ¥ Maa &Re ™ (—) 10
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23. Explain the ‘expenditure’ method of estimating national income.
OR

Explain the term ‘compensation of employees’ and its components. Giving reasons, state
whether the following are treated as compensation of employees :

() Gifts by employers
() Bonus
TG 3T & Akad ol ‘gd fafer g9smew

Jgar
FHARA & TRAMER B FEIEROT AR b HIH GELAZT | HROT @w
5 frefafaa @1 #Haal & qRyfd 7@r Smom ar 9@ o
() ™aS® g/ FHARAl & IUBR
@) ¢

24. What is ‘deficient demand’ in macroeconomics ? Sh@ a diagram. Explain the role

of open market operations in correcting it.
Waﬁsmﬁ‘qﬁ%m’awaﬁrm%ﬁ W @Ry | 38 X w

6

H g SR gfhara @ gfHeer

For Blind Candidates@gly in lieu of Q. No24
Had g qOeTiinn; e W& 24 & €M W

Distinguish between ‘deficie d”and ‘excess demand’ in macroeconomics. Explain
the role of open market i In correcting deficient demand.

w&aﬁaﬂaﬁg@ YR AT o & I SfdR 9dsul "I
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